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AAR107143| $:=v [R313]| 7-5 [~ | 54.88 5145 | 106 | kit i
AAR107802| %w " |[R412] 7-6 |w = A i i
AAR108121| %w @ [R412] 94 [#~ A i
AAR108123] %w " [R510] 3-3 [#= A 4B
AAR108124] fw v [R313[ 3-1 [#% 53 1B
AAR108142| fw v [R412]| 72 [#% 4 8
AAR109115] £=v [R313| 71 [#% 4 8
AAR109138] £:=v" [R313| 13 [#% 53 1B
AAR109802| %= [R510] 1-2 [w<| 343 2401 [ 583 %iii#
AAR110103] #-+ |R313] 15 [& % AW B (P L
AAR110104] %-v |R413] 15 |3 =] 5831 65.17 [ 123 | kil i
AAR110105] % - v |R413] 2-2 [w=| 8232 5488 | 137 | kil i
AAR110110[ % - " [R412| 56 |#=| 78.89 8575 | 165 | &
AAR110113| % - [R313| 95 [w=| 6174 5488 | 117 | % i
ACA109105| <= @ |R413| 54 [+ = KT
ACA109703] zxw = " |R412[ 1-5 |3+ | 4802 4459 | 926 | i
ACA111703] - » |[R510] 2-6 |[# <+ | 89.18 96.04 | 185 | i
ACA111704] - * |[R313] 64 [w =
ACC108103| < 4]= » [R413| 1-6 [#~
ACC108120| < ¢|= » [R510| 6-6 [# =
ACC108122| + ¢|w » [R313[ 113 [# =
ACC108138| < 4]w » [R412]| 3-7 [#~
ACC108802| = = » [R412| 4-1 [#=
ACC108805| < = v |[R413| 2-1 [s %
ACC109102| #= " |[R510] 756 [#=<| 6174 85.75 | 147 | i i
ACC109802| < 1= » [R412[ 112 [#=| 4116 4116 | 823] xui&
ACC109805| ~ 4= » [R313] 11 [&#=
ACC110105] = 4= » |[R412| 7-4 [#=
ACC110147| < 4= » [R412] 13 [#~
ACS107135[ Fw @ [R510] 3-1 [#~
ACS108134| 1w v |R412[ 98 [~
ACS108136 | 1w v |R412[ 24 [ =
ACS108137 | #w v |Ra13| 25 [#=| 6517 9261 | 158 | ki i
ACS108141| #w v [Ra12| 87 [#=| 7203 106.33 | 178 | i i#
ACS108146| 7w » |R510| 7-2 [#<| 6174 7889 | 141 | X%
Acsi08803| 7w v [R413[ 3-3 =~ [ - -
ACS108804 | 7w v |R510| 1-4 [ <] 4459 4459 892 xiui&
ACS110102| 7 - |R412] 6-3 [w<| 4116 7203 | 113 | ki
ACS110137 | 1 - v |R413| 2-4 [ <] 6517 7880 | 144 | ki
ADT108111| #ci== » [R413[ 43 |3 % A il 1B
ADT108117 | #ci=w » [R412[ 22 |3 % A il 1B
ADT108135| #ci== » [R413[ 42 |3 % A il 1B
ADT109106 | #i-= » [R412] 47 |#=+| 7889 58.31 | 137 | ki i
ADT109129| #ci-= » [R412] 67 |#=+| 5831 7546 | 134 | ki
ADT109131| #ci-= » [R413[ 44 |#=<| 4459 5488 | 99.5| Aiii#




ADT109139 | #ci-= 7 [R313] 57 [i¢ % 33 16
ADT100148| F =" |[R412| 2-8 |#> 33 16
ADT109149| #ci-= » [R510] 71 [#= 4 i
ADT110150| #i=- » |R510| 3-6 [# < A i
ADT111130| #i=- » [R313] 44 [#= i i
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AEC108107| #w » |R313[11-5[#+| 686 A i
AEC108129| # 3w » |R313| 6-6 |# < 5 i i
AEC108142 | #w » |R313| 46 |#<| 6174 5145 | 113 | %%
AEC108703| #w v |R412| 83 |#<| 6174 6174 | 123 | % ik
AEC108705| #w » |R412| 26 |#<| 37.73 6174 995 %k
AEC100103| » %= @ |R413| 6-3 |= - [ NG - -
AEC109109| # =" [R313[126 [#<| 48.02 8232 | 130 | %%
AEC109113| #= v |R413| 61 |#+| 72.03 9947 | 172 | u &
AEC109125| == [R413] 53 |#+| 6174 7203 | 134 | Xk
AEC109129| == [R313] 62 |#+| 6174 5831 | 120 | % i
AEC109130| # =" |R413[ 55 |&= 51 i
AEC100131| == |R413[ 64 |#= Kl i
AEC109132 | # %= » |R510| 45 [#<| 4802 5145 | 99.5| % ik
AEC109133| == |R412| 81 |#<| 4459 5831 | 103 | % i
AEC109134 | % %= v |R412[ 10-1 [#+| 4802 5145 995 %
AEC100137 | #» %= v |R413| 11 [+ - | - -
AEC109139 | # %= v |[R413] 13 [#+| 41.16 7889 | 120 | %%
AEC109144| %= |R413| 46 |#<| 7889 9261 | 172| &
AEC100703| == [r313] 88 |« - | NG -
AEC111104| #- » [R313[ 128 [#=+| 85.75 10633 | 192 | i
AEC111105| #—v |R413| 12 |#=+| 5831 8232 | 141 | X ik
AEC111106| #- » [R313[ 108 [#+| 61.74 89.18 | 151 | X i
AEC111107 | #- v |R413| 14 |#+| 54.88 89.18 | 144 | % ik
AEL109128| %= [R412| 96 |#+| 65.17 8575 | 151 | % ik
AEL109701| %= |[R313| 42 |#+| 78.89 1029 | 182 i
AEL109702| % =7 |[R412] 78 |4 %8
AEL110105| - » |R412|11-8 |#<| 5831 7546 | 134 | X%
AEL111107| %- » [R510| 1-1 |#<| 8232 8018 | 172 | &
AEL111110| - » |R413] 65 |# % Al B [P ¥
AEL111701| - » |R413] 52 |# % 2B | L
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AIB107702 | @ w @ |R412| 52 |#+| 5145 5145 | 103 | % i
AIB108122 | @ w v |R412| 105 [#+| 5831 8575 | 144 | %%
AIB108149 [ me= » |R510| 65 [+ - [T
AIB108703 | @ w » |R510| 51 [#<| 99.47 11319 [ 213 | %
AIB108708 | @ w @ |R510| 53 |44 i i
AB108710 | Mg e @ |R313[ 24 |+ - [N -
AIB108711 | B gw 7 |R510| 55 |#<| 9261 9947 | 192 | &
AIB109701 | 4= 7 |R413| 32 |#+| 686 686 | 137 | xiu &
AIB109702 | B¢ = 7 |R313| 7-7 |#<| 9947 116.62 | 216 | i %
AIB109707 | B4 = @ |R412] 107 |# > i
AIB109708 | B4 = @ |R412[ 127 [# <] 89.18 106.33 | 196 | %
AIB109709 | B4 = ° |R412| 58 |#<| 11319 | 10633 [ 220 | :i:4
AIB10990L | F 4 = ° |R510]| 16 |#< i
AIB109902 | B4 = @ |R510] 22 |#> 51 i
ALA108106| :#= ® |R510| 62 |#< i




ALA108138] 5w v [R313[ 26 [# <] 5831 85.75 | 144 |
ALA109101| 53 = » |R413| 26 [#+| 6174 65.17 | 127 |
ALA109104| 5=+ |R313| 17 [#=%| 5145 7546 | 127 | xu
ALA109107] =+ [Rrs10] 6-1 [# = [ - :
ALA109126| :5= " |R413[ 34 [#<| 686 7546 | 144 | xu
ALA109127| = |R313[ 22 [#=+| 4802 1029 | 151 | xu
ALA109131| ;%= » |R313] 124 [#=<| 54.88 6174 | 117 | u
ALA109133| = R313| 3-5 |#<+| 4459 6174 | 106 |
ALA109139| = R313[ 10-2 [# <] 4459 7546 | 120 |
ALA109143| 5= R313[ 10-4 [# <] 6517 8232 | 147 | u
ALA109144| 5= R412| 6-1 [#<| 7546 6174 | 137 | u

= 7546 7203 | 147 | xu
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AMA108107| #cx R413| 2-3 | +| 48.02 6174 | 110
AMA109103| = /= » |R313| 51 [#=| 6174 6174 | 123 | %u
AMA109107| #= " |R510| 56 |#<| 6517 686 | 134 xu
AMA109109| #c% = ° |R413| 56 |& < i
AMA109114| #3 = |R510] 4-4 | < i€
AMA109115| #= " |R412] 114 |& >+ i
AMA109121| #c= » |R510| 73 [#+| 5831 9261 | 151 | %
AMA109122| #cjc=  |R413| 62 [#=| 6174 96.04 | 158 | %
AMA109126] #=" |R510] 1-5 [~ [ - :
AMA109133[ #c3c= ° |R313] 7-3 [# | 6174 9261 | 154 | %
AMA109147| #c%= ° |R313| 86 |#+| 4459 5831 | 103 | %
AMA109804| #3c= » |R412| 4-3 [ - [ - :
AMA110104| #- = |R510| 32 [#=| 4116 7889 | 120 | %
AMA110109| #c% - » |R510| 52 |#+| 6517 8232 | 147 | xu
AMA110130| #c- " |R510| 34 |#+| 6517 7546 | 141 | xu
AMA110131| #ic% - » |R412| 35 |#+| 5831 7203|130 | xu
AMA110139| #c- » |R412]| 125 [#+| 686 8575 | 154 | i %
AMU106701| % » |R412| 12-1 [+ 8232 8232 | 165 | &
AMUL07112| 3= |R510| 2-3 |# | 54.88 7203 | 127 | xii i
AMU108103] = » |R313| 111 [#~+| 5831 65.17 | 123 | xii
AMU108110| & » |R412| 33 [#=
AMU108116] = ® [R413[ 7-3 [# =
AMU108117| ¢ |R313| 97 [#=
AMU108118| ¢ = " |R510| 63 [#=| 7546 65.17 | 141 | xid %
AMU108119| ¢ » |R313| 91 |#<| 686 65.17 | 134 | 1
Amu108121] z = | Rrs10| 7-4 =~ [T
AMU108123| s w @ |R413| 7-1 [#=| 5145 6174 | 113 | 1 i
AMU108129| ¢ |R313| 84 |#+| 5831 4459 | 103 | A%
AMU108130| § #u © #<| 6174 7889 | 141 | 1
AMU108132| = » |R412[ 65 |#=| 7546 82.32 | 158 | i i
AMU108135| &= » |R510| 76 |#<| 686 8575 | 154 | i i
AMU108136| 5= » |R413| 51 [#=<| 66.17 65.17 | 130 | i i
AMU108701| 5= » |R413| 45 [#=| 66.17 6174 | 127 | xii i
AMU109128] % = » [R413| 7-4 |#=+| 7546 7203 | 147 | x i
AMU110119| 5 - » [R413[ 3-1 [#=| 72.03 6174 | 134 | x i
AMU110133[ 5 - » |R413[ 41 |#= 51 i
AMU110136] 5 - » |R413[ 35 |#= 51 i




APE108121| 4w v |R412| 11 |®<| 4459 2401 | 686 4%
ASC107119| 4w v |R313] 106 | +| 6517 7203 | 137 | 41
ASC107801| #tw v |R313] 11-7 |#=+| 89.18 7880 | 168 | i %

ASC108113 | 7%= v |R313] 12-2 [+ | 343 686 | 103 | #i &
ASC108123| #iwr v |R412] 92 |# % A il i
ASC108131 | 71 %w v |R412| 85 | +| 686 8575 | 154 | 4 &

ASC109105| #t#& =" |[R413]| 7-2

ASC109107 | &%~ = 7 [R313| 3-3
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ASC109147 | #+3c= * |R313| 93 |3 %
ASC110130| - v [R413] 3-6 |#~| 6517 85.75 | 151 | kil 4%
ASO108120 | Fitr 7 |R412[ 116 [#~| 6L74 85.75 | 147 | kil %
ASO108127 | %tz @ |R510| 4-3 [# <[ 54.88 6174 | 117 | 1
Aso0108134 | wirx v |R313[ 2-8 &~ [N -
ASO109106 | %= 7 |R412] 103 [# <[ 48.02 92.61 | 141 | kil 4%
ASO109120 | %= 7 |R413| 66 [# <[ 7203 96.04 | 168 | i i
ASO0109133| ®it= 7 |R412| 54 |#~| 7546 89.18 | 165 | i i
ASO110102 | ®it- 9 |R510| 2-1 [# <[ 65.17 65.17 | 130 | kil 4%
ASO110117| ®it- 7 |R510| 2-4 |#~| 6174 7203 [ 134 | ki
ASO110132 | ®it- 7 |R412[ 12-3 [#+| 4459 68.6 | 113 | %%
ASO111120 | %4- ? |R510| 13 [#< %l i
ASO111125| F - ? |R313| 55 [#< id B
ASP108801 | #w ” |R510| 4-6 [# % %l i
ASP111123 | #- » |R412| 17 [w+| 44.59 48.02 | 92.6 | i %
ATA109138| = |R313[ 48 [w=<| 8232 85.75 | 168 | i i
ATA109146] s=7 |R313[ 3-7 [¥+
ATA100808| ;=" |R412] 31 [#=x| 5145 5145 | 103 | kil 4
ATA110112| - |R510[ 35 [#+4
ATAL11125] - ° |R313] 68 [#=
ATAL111144| - |R510] 42 [#+
ATAL11146| ;- ° |R510] 64 [#+
BAR111106] %# - » [R313] 8-2 |& >~




